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Ifin AABC,A = 3B then:
(a — b)*(a + b) = bc?

Proposed by Nguyen Hung Cuong-Vietnam
Solution by Tapas Das-India

A+B+C=mor,C=nm—(A+B)=n— (3B+B)=m—4B
sin C = sin(wr — 4B) = sin4B

bc? = 2R sin B .4R? sin? C = 8R3 sin B.sin? 4B (i)

(a—b)?(a+ b) = (a? — b?)(a — b) = 4R*(sin? A — sin? B)2R(sin A — sin B)
1238 gRs3 sin(4 + B) sin(A — B) (sin 3B — sin B) = 8R3® sin4B sin 2B - 2 cos 2B sin B

= 8R3(2 sin 2B cos 2B) sin B sin 4B = 8R3 sin B .sin? 4B (ii)

From (i)& (ii) we get (a — b)?*(a + b) = bc?



